



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$(-9)^{(-2)} - 4 =$$

$$(-2)^{(-1)} + 2 =$$

$$7 + (-4) =$$

$$3^{(-2)} + (-10) =$$

$$(-9)^{(-2)} + (-9) =$$

$$5^{(-2)} + (-3) =$$

$$5^0 - 6 =$$

$$(-8)^0 + 5 =$$

$$10^{(-1)} + (-4) =$$

$$(-5)^2 - (-8) =$$

$$2^{(-1)} + 7 =$$

$$1^2 - 8 =$$

$$1^2 - (-4) =$$

$$3^2 + (-2) =$$

$$1^{(-2)} + 8 =$$

$$(-7)^2 + 5 =$$

$$4 + (-1) =$$

$$(-10) + 3 =$$

$$(-3)^{(-1)} - 4 =$$

$$2^{(-2)} - 1 =$$



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$(-9)^{(-2)} - 4 = \left(-\frac{323}{81}\right) = \left(-3\frac{80}{81}\right)$$

$$(-2)^{(-1)} + 2 = \frac{3}{2} = 1\frac{1}{2}$$

$$7 + (-4) = 3$$

$$3^{(-2)} + (-10) = \left(-\frac{89}{9}\right) = \left(-9\frac{8}{9}\right)$$

$$(-9)^{(-2)} + (-9) = \left(-\frac{728}{81}\right) = \left(-8\frac{80}{81}\right)$$

$$5^{(-2)} + (-3) = \left(-\frac{74}{25}\right) = \left(-2\frac{24}{25}\right)$$

$$5^0 - 6 = (-5)$$

$$(-8)^0 + 5 = 6$$

$$10^{(-1)} + (-4) = \left(-\frac{39}{10}\right) = \left(-3\frac{9}{10}\right)$$

$$(-5)^2 - (-8) = 33$$

$$2^{(-1)} + 7 = \frac{15}{2} = 7\frac{1}{2}$$

$$1^2 - 8 = (-7)$$

$$1^2 - (-4) = 5$$

$$3^2 + (-2) = 7$$

$$1^{(-2)} + 8 = 9$$

$$(-7)^2 + 5 = 54$$

$$4 + (-1) = 3$$

$$(-10) + 3 = (-7)$$

$$(-3)^{(-1)} - 4 = \left(-\frac{13}{3}\right) = \left(-4\frac{1}{3}\right)$$

$$2^{(-2)} - 1 = \left(-\frac{3}{4}\right)$$